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% HW 9, Prob. 7.84 from N&R.

t = linspace(-0.01, 0.04, 2501); i

% Initialize values to zero and then add appropriate values.
vl = zeros(1, length(t));

vs = zeros(1l, length(t));

% Source function.
VS = vs + 40 .x (t > 0) .* (t <= 0.01);
vs = vs — 40 .x (t > 0.01) .x (t <= 0.02);

r = 50e3;
c = 400e-9; _
tau = r * c; ~

vl = v0 + 40 *x (1 - exp(-t/tau)) .x (t > @) .x (t <= 0.01);

vl_01 = 40 x (1 - exp(-0.01/tau));

vl = v0 + (-40 + (v0_01 + 40) x exp(-(t - 0.01)/tau)) .x (t > 0.01) .x (t
<= 0.02);

vl_02 = -40 + (40 + v0_01) * exp(-0.01/tau);

vl = v0 + vO_02 x exp(-(t - 0.02)/tau) .x (t > 0.02);

% Convert horizontal axis to milleseconds.

plot(1000 x t, vs, 'LineWidth', 2)

hold on

plot(1000 *x t, v@, 'LineWidth', 2)

xlabel('$t$ [msl', 'Interpreter', 'latex')
ylabel('voltage [V]', 'Interpreter', 'latex')
axis([-10 40 -45 45])

grid on

set(gca, 'FontSize', 16)

legend('$v_s(t)$', '$v_0(t)$', 'Interpreter', 'latex')
title('$R = 50% k$\Omega$, $C = 400% nF', "Interpreter", "latex")
hold off
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HW 9, Prob. 7.93 from N&R.

% time in microseconds

t = linspace(-2, 23, 2501);

% Initialize values to zero and then add appropriate values.
v0 = zeros(1, length(t));

vl = v@ — 60 x t.~2 .*x (t > 0) .x (t <= 5);

vl = v0 + (60%xt.”2 — 1200x%t + 3000) .x (t > 5) .x (t <= 15);
vl = vO + (-60%t.”2 +2400%xt — 24000) .*x (t > 15) .x (t <= 20);

plot(t, v@, 'LineWidth', 2)

xlabel('$t$ [$\mu$s]’', 'Interpreter', 'latex')
ylabel('voltage [$\mu$V]', 'Interpreter', 'latex')
axis([-2 23 -3030 20])

grid on

set(gca, 'FontSize', 16)
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